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H.W. (1): 

Q1. Show that: 

a) (−1 + 𝑖)7 = −8(1 + 𝑖)                  b) (1 + √3𝑖)−10 =  2−11(−1 + √3𝑖) 

 

Q2- Solve the following equations: 

 a)  𝑍5 = 4 − 4𝑖                       b) 𝑧 = √2
6

 

 

Q3- Find the principal argument when 

a)  𝑍 =
𝑖

−2−2𝑖
                            b)    𝑧 = (√3 − 𝑖)6 

 

Q4- Reduce each of these quantities to a real number: 

a) 
1+2𝑖

3−4𝑖
+  

2−𝑖

5𝑖
    b) 

5𝑖

(1−𝑖)(2−𝑖)(3−𝑖)
 

 

Q5- Simplify the complex numbers. 

a) 
6+√−18

9
     b) 

4−√−36
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